### **GOVERNMENT BOYS HIGH SCHOOL MARI JALBANI**

### **Bid Evaluation Report**

1. Name of Procuring Agency: Government Boys High School Mari Jalbani

2. Tender Reference No: Government Boys High School Mari Jalbani (S.No 26210)

3. Tender Description/Name of work/item: Purchase of In Class Material, Furniture & Fixture Items

4. Method of Procurement: Single Stage two envelop

5. Tender Published:

SPPRA ID. No 214748364 (S.No 26210) dated 21-01-2016 (Less than one

million)

6. Total Bid documents Sold; Two (02)

7. Total Bids Received:

Two (02)

8. Technical Bid Opening date: (if applicable) 08-02-2016 (Provide details in separate form)

9. No. of Bid technically qualified (if applicable): Two (02)

10. Bid(s) Rejected:

NIL

11. Financial Bid Opening date: 12-02-2016

12. Bid Evaluation Report:

S No	Name of Firm or Bidder	Cost offered by the Bidder	Ranking in terms of cost	Comparison with Estimated cost	Reasons for acceptance/rejection	Remarks
0	1	2	3	4	5	6
1.	ABM Enterprises	In class Material Rs.172,526 Furniture & Fixture Items Rs.593,940	2 <sup>nd</sup> lowest bid for Inclass Material & F&F items		Rejected due to highest rates for Inclass Material & F&F items	
2.	M. Jameel Furniture Mart	In class Material Rs.164,203 Furniture & Fixture Items Rs. 512,280	1 <sup>st</sup> lowest bid for Inclass Material & F&F items		Accepted due to 1 <sup>st</sup> lowest bid for Inclass Material & F&F items	

LIMUDDAIN DAHRI Assistant Engineer (Buildings) Member (Works & Seralbes)

SulgRuhamad

d flyaz/Mharzada

High Sci. Jalbani

### GOVERNMENT BOYS HIGH SCHOOL MARI JALBANI

NIT No. Government Boys High School Mari Jalbani (S.No. 26210)

Method and procedure of procurement: National Competitive Bidding (Single Stage - two Envelope)

### MINUTES OF BID OPENING MEETING FINANCAL PROPOSAL

A meeting of the procurement committee of this department was held on 11.00AM dated 12-02-2016 for opening the bids received in respect of subject NIT till the deadlines of submission. The meeting was attended by all/ following members of the procurement committee and the representative of bidders.(Attendance sheet is enclosed).

The following bidders attended the bid opening meeting:

- 1) ABM Enterprises
- 2) M. Jameel Furniture Mart

The bids were opened in the presence of the above mentioned participants and the rates quoted by bidders were read aloud and encircled by Chairman of the Procurement Committee. All the members of the procurement committee signed each and every page of financial proposal/bids. The bids do not contain any over-writing or cutting. Following is the details of bids announced:

S. No.	Name of Bidder	Offered Price	Amount of Bid Security	Pay Order No./ Date
1	ABM Enterprises	In class Material Rs.172,526 Furniture & Fixture Items Rs.593,940	Rs. 15,330	0803663 dated 08- 02-2016
2	M. Jameel Furniture Mart	In class Material Rs.164,203 Furniture & Fixture Items Rs. 512,280	Rs. 13,535	0000951 dated 08- 02-2016

The committee shall examine all the bids as per the Qualification/ eligibility criteria provided in the bidding documents, arithmetical checks and verify the documents and bid security submitted by the bidders.

The meeting ended with the note of thanks to and from the chair.

ILIMUDDAIN DAHRI Assistant Engineer (Buildings) Member (Works & Services) Shaheed Benazir Abad

In Muhammad Sz. Teacher

### GOVERNMENT BOYS HIGH SCHOOL MARI JALBANI

NIT No. Government Boys High School Mari Jalbani (S.No. 26210)

Method and procedure of procurement: National Competitive Bidding (Single Stage – two Envelope)

### MINUTES OF BID OPENING MEETING

### (Technical Proposal)

A meeting of the procurement committee of this department was held on 12.30PM dated 08-02-2016 for opening the bids received in respect of subject NIT till the deadlines of submission. The meeting was attended by all members of the procurement committee and the representative of bidders. (Attendance sheet is enclosed).

The following bidders submitted their bids till the deadline of submission:

- 1) ABM Enterprises
- 2) M. Jameel Furniture Mart
- 3) Burraq Business Corporation

The bids were opened at <u>01.00PM</u> in the presence of the above mentioned participants and the documents established with bids by bidders were read aloud by Chairman of the Procurement Committee. The technical evaluation was carried out before the bidders. (**Copy Enclosed**)

'LIMUDDAIN DAHRI
Assistant Engineer (Buildings) Member
(Works & Services)
Shaheed Benazir Abad

Ful Muliamured

Muhammad Ilyak Albanz , 19 Head Master Govt: (B) High School Mari Jalbani

### OFFICE OF THE HEAD MASTER GOVERNMENT BOYS HIGH SCHOOL MARI JALBANI SHAHEED BENAZIRABAD

Comprative Statement of In-Class Material & Supplies Items

	Comprative Statement of In-	11111		ameel		
S.N		Quantit		ure Mart	ABM	Enterprises
0	Description	y	Unit		Unit	
		,	Rate	Total	Rate	Total
1	White Board	6	8,650	51,900	8,850	53100
2	Cardio Vasular System Chart	2	689	1,378	715	1430
	Drawing Paper RIM	5	1198	5,990	1260	6300
	Markers Removable for white board pkts	10	695	6,950	735	
	Wall Clock	10	1750	17,500	1850	18500
6	Amoeba Chart in Penaflex 2x4	10	689	6,890	730	7300
7	Digestive System of Frog Chart in Panaflex	10	689	6,890	730	7300
$\overline{}$	Grammar Chart in Panaflex	2	689	1,378	730	1460
9	Human Respioratory System Chart in Panaf	2	689	1,378	730	1460
	Periodic Table of Elements Chart in Panafle		689	689	730	730
11	Physics Definition Chart in Panaflex	1	689	689	730	730
12	Biology Definition Chart in Panaflex	1	689	689	730	730
13	Nervous System Chart in Panaflex	2	689	1,378	730	1460
14	Punctuation Chart in Panaflex	2	689	1,378	730	1460
15	Geometry Chart in Panaflex	2	689	1,378	730	1460
	Normal Fraction Chart in Panaflex	1	689	689	730	730
17	Decimal Fraction Chart in Panaflex	1	689	689	730	730
18	Paramacium Chart in Panaflex	2	689	1,378	730	1460
19	Sindhi Peoms Charts in Panaflex	1	689	689	730	730
20	Urdu Poems Chart in Panaflex	1	689	689	730	730
21	Arabic Verses Chart in Panaflex	1	689	689	730	730
22	Heart Chart in Panaflex	2	689	1,378	730	1460
23	Lungs Chart in Panaflex	2	689	1,378	730	1460
24	Brush for Drawing (SeT)	1	1390	1,390	1490	1490
25	Water Colour Boxes Large	2	3490	6,980	3710	7420
26	Drawing Sheet 20x30	8	71	568	91	728
27	Duster	20	72	1,440	85	1700
28	ENERGY SEVER 32WATT	20	498	9,960	549	10980
29	CHAK Cartoon	2	3840	7,680	3910	7820
30	Number Block of base five	2	635	1,270	710	1420
31 (	Chart of Math	2	689	1,378	730	1460
32 (	Chart of fruit	6	689	4,134	730	4380
33	Alephabatical chart	6	689	4,134	730	4380
34 1	Numerical chart	6	689	4,134	730	4380
35 (	Chart of vegitable	5	689	3,445	730	3650
36 (	Chart of body part	4	689	2,756	730	2920
37 8	Tap Solution Pkt	2	450	900	499	998
	N \\	Total		164,203	M //	172,526

LIMUDDAIN DAHRI
Assistant Engineer (Buildings) (Jember

(Works & Services) Shaheed Benazir Abad 2 Sulmilamurad

Muhammad Ilyaz Khanzada Head Master Govt: (#) High School Mari Jalbani

### OFFICE OF THE HEAD MASTER GOVERNMENT BOYS HIGH SCHOOL MARI JALBANI SHAHEED BENAZIRABAD

### Comprative Statement of Furniture & Fixture Items

S.No	Description	Quantity	M. Ja Furnitur		ABM Enterprises		
			Unit Rate	Total	Unit Rate	Total	
1	Teachers Table	5	5,888	29,440	6,730	33,650	
2	Duel Desk	50	7,999	399,950	9,300	465,000	
3	Steel Almirrah	2	26,995	53,990	29,995	59,990	
4	Chairs	10	2,890	28,900	3,530	35,300	

**Total** 

512,280

593,940

ILIMUDDAIN DANRI Assistant Engineer (Buildings) Member (Works & Services) Shaheed Benazir Abad Chairman
Procrument Committee

Head Master Fovt: (#) High School Mari Jalbani

& Trachen

Z	6.	Λ	·ω	2.	-			بــر		
ote: T			•			Sr No	Eligibi	Name	Metho Descri	NIT NO
he pro			Burras	ARM	3	Name of Vender	lity/Q	Name of Bidder:	Method and procedu	0
curing			angla	M	ar.	of	ualifica	ler:	proced of work	
ageno	3			4	2	& P	ation (		lure o	
cy may mo	an she	100	7	1 .	1	Specification & Brochures	Eligibility/ Qualification Criteria:		Method and procedure of procurement:  Description of work:	
Note: The procuring agency may modify the criterias per the pure all the pure the pu	do la	te: 1	7	, a ,	7	Supplies of similar task completed in last 3year	BIDDER		1	
ILIMUDD Iteriasas pegiti (Works Shahsed	200	d and	7.	1	1	Supplies of similar tasks in hand	S' ELIGIB		en Competi	g.
rks & s	300	2			e e	<del></del>	TITITY		itive B	5
Shaheed Benazir Abad	bi B	levs	1	0	0	Available Bank Credit Line 0.5 Million	// QUAL		idding (S	$\square$
ments.	Jakan Jakan	N. Far		0	6	Registration with Federal Board of Revenue	BIDDERS' ELIGIBILITY/ QUALIFICATION REPORT	*	Open Competitive Bidding (Single Stage -	Je de la company
	ge for	il AB		10	10	Litigation History where decision went against the Firm.	REPORT	×	-two Envelope)	3 + 10
The second secon	S. S	3MEnt		Ó	20	Blacklisting from any Agency			ope)	2
man	EDX KG	hads	)	5	75	Active Tax Payer		e.	Car le	1
Shit Muhu Sz. Teache	forsin	peacife		_,	7	Registration with Sales tax dept			31	H
1 Muhan Teacher	-	6		3	3					
+ 4						ख. <sup>हुए</sup> ज. <sup>हुए</sup>			00 J 20	١,

### Government Boys High School Mari Jalbani District Shaheed Benazirabad

Opening of Technical Proposal (Inclus Material

Attendance Sheet of Contractor

Name of Participant  Name of Firm  Contact No  Relies AS: M. Ender (n. 188 - 03083388948  About Rech M. Jamil Furniture Mart - 0308338948  B. B. C. H&d. 0303333381159
Name of Firm Contact No A 8: M. Ender Pri. Sel- 03083338348413  M. Jamil Furniture Mart 03003146413  B. B. C H&d 0333335811579
Contact No 03083338348413 03083146413

### Government Boys High School Mari Jalbani District Shaheed Benazirabad

Opening of Technical Proposal (Inclus Material)

## Attendance Sheet of Procrument Committee

3. 91mm	2. Gul	1. Muh	S.No	
Slomuddin Dohn	Grul Mulyamand	Much and Ilyans ada	Name	
Assistant Engs.	Teacher / Member	H.M Chairman	Designation	
0301 380 872		7663016 7250	Contact No	
n	The state of the s	e and a	Dated:08-02-2016	

### Government Boys High School Mari Jalbani District Shaheed Benazirabad

## Opening of Technical Proposal

Attendance Sheet of Contractor

		\$	۵	2	J	S.No
		J. Mon! J. Sus	Chilam Tall	Mukhting Amer	Abdul Qudin M.Saloom	Name of Participant
		C+15.M. Englande 7-833	1 Martin Enth Pinse	Mital Lurniture Mart	About andir M.Salpon MT	Name of Firm
		3768558°5	03003433524	03003146413	Contact No	
			Show &	1.0%	Signature	Dated:08-02-2016

# Government Boys High School Mari Jalbani District Shaheed Benazirabad Opening of Financial Proposal

## Attendance Sheet of Procrument Committee

		'n	$\lambda_{\mathcal{O}}$	\	S.No
		3. Stomuddin Jahn	GUL Milamy Sl	M. Show I hamshold	Name
		Ami	S. T. / 7. Sa	a 1+ M / Chariman	Designation
		17 63086 1060	03044075540		Contact No
			PA	2 mys	Signature